PAT Start

Erstellt von Paul Bachler 2008

0% - 60%
60% - 80%
80% - 100%

I
Namen: Markus Egger
1) StoR-Geschwindigkeit] 4] 4] 2 | |
@ Soll: 3,00] 3,333333333 0
Faktor (Y) 33,34 33,34

Points (Z x Y)

2) Sto3-Geradlinigkeit

@ Soll: 2,00
Faktor (Y)
Points (Z x Y)
Summery
3) Winkel-Balle] 4] 4] 3 | |
@ Soll: 3,00] 3,666666667 0
Faktor (Y) 33,34 33,34
Points (@ x Y) 0
Summery 0
4) Nachlauf-Wirkung] 11] 8] 9 | |
@ Soll: 9,00] 9,333333333 0
Faktor (Y) 11,12 11,12
Points (@ x Y) 0
Summery 0
5) Riicklauf-Wirkung| 8] 8] 11 | |
@ Soll: 7,00 9 0
Faktor (Y) 14,29 14,29
Points (2 x Y)
Summery
6) KI. Pos.-Bereich a] 1| 2| O
b 1 4 2
@ Soll: 4,00] 1,666666667 0
Faktor (Y) 25 25
Points (D x Y) 42 0
Summery
7)Gr. Pos.-Bereich a] 6[ 3] 4
bl 1] 3| 4
@ Soll: 5,00 35 0
Faktor (Y) 20 20
Points (J x Y) 70 0
Summery 0

8) "Press Bande"

@ Soll: 3,00

Faktor (Y)

Points (D x Y)

Summery

9) Standardballe

@ Soll: 2,00

Faktor (Y)

Points (J x Y)

Summery

10) 8-Ball Situation

@ Soll: 3,00

Faktor (Y)

33,34

Points (D x Y)

67

Summery 906 [0 |




Erstellt von Tom

2011 0% - 60%

PAT 1

| Cper 10036 ]
Bachler Kapeller Niederseer Grundler  [Wurzenrainer
Namen: Daniela Manuel Bachler Paul | Sebastian Hansi Thomas
1) StoB-Geschwindigkeit] 4] 4] 3] 4] 4] 4] 4] 3] 3] 3] 2] 3] 4] 2] 3| 3] 3] 4
@ Soll: 3,33] 3,666666667 4 3,333333333 | 2,666666667 3 3,333333333
Faktor (Y) 30 30 30 30 30 30
Points (J x Y) 80 90
2) StoB-Geradlinigkeit] 3] 3] 2] 3] 3] 3] 3] 3] 3] 2] 3] 3] 3] 3] 2] 3] 3] 2
2 3 3 3 3. -1~ 3
@ Soll: 2,50 25 3 3 2,75 2,75 2,75
Faktor (Y) 40 40 40 40 40 40
Points (2 x Y)
Summery| 90
3) Nachlauf-Wirkung] 12| 12| 12| 8| 12| 12| 8| 12| 10| 12| 11| 12] 12| 9| 10] 12| 12| 12
@ Soll: 11,00 12 10,66666667 10 11,66666667 | 10,33333333
Faktor (Y) 9,09 9,09 9,09 9,09 9,09
Points (@ x Y) 97 91 94
Summery| 296 294
4) Rucklauf-Wirkung| 11] 10| 8] 12| 12 12] 3] 8] 7] 9of 7] 10 7[ 3] 6] 7] 12] 8
@ Soll: 10,00] 9,666666667 12 6 8,666666667 | 5,333333333 9
Faktor (Y) 10 10 10 10 10 10
Points (2 x Y) 9 60 8 53 90
Summery| 8 4
5)Kl. Pos.-Bereich a| 2| 2| 3] 5] 5] 4] 4] 5] 3] 4] 2| 3] 2| 3] 3] 4 4] 4
bl o 2] 3] 5[ s[ s| 3] of 1| 5[ 3] 3] 5[ 4] 1| 5[ 1] 4
@ Soll: 3,33 2,00 4,83 2,67 3,33 3,00 3,67
Faktor (Y) 30 30 30 30 30 30
Points (@ x Y) 60 80 90
Summery| 476 451 483 437
6) Gr. Pos.-Bereich _a|] 5] 1| 4] 6] 6 6] 1] o[ 3| 1] 1] o0 | o] 4] 1] & 1
bl 3] 2] 1] 2[ 2 s| 2] 3] 2| 2f 3] 4] 2 1] 4| 2] 1] 2
@ Soll: 3,33| 2,666666667 4,5 1,833333333 | 1,833333333 2 2,166666667
Faktor (Y) 30 30 30 30 30 30
Points (@ X Y) ) 55 55 60 65
Summery| 556 506 538 497 584
7)PressBande a| 6] 4 2 | 6] | 3] | 4] 1] 6] 6] 4 | 3]
bl 6] 6] 2| of & [ 2 [ 7[ 2 e[ of s| 7[ 4]
@ Soll: 4,00] 4,333333333 5 3 4 4,5
Faktor (Y) 25 25 25 25 25 25
Points (& x Y)
Summery| 664 581 638 610
8)Endlos-Ubung| 9] 3] 3] 7] o o] 2| af af 4] 2 2| a[ 1| 1] 1] 4] 9
@ Soll: 4,50 5 8,333333333 | 1,333333333 | 2,666666667 1 4,666666667
Faktor (Y) 22,22 33,34 33,34 33,34 33,34 33,34
Points (3 x Y) 44 89 33
Summery 775 727 643
9) Standardballe] 2] 1] 2] 2] 2] 3] o] 1] 1] 3] 1] 2] o[ o[ 2] 1] 1] 1
1l 1~ 3] 3 ~1 o 3~ 3 o~ 1 o~ of 1~
@ Soll: 2,00 14 2,6 1 1.8 0,6 0,8
Faktor (Y) 50 50 50 50 50 50
Points (2 x Y) 70 50 90 30 40
Summery| 845 675 817 673
10) 9-Ball Situation] 1] 2] 2] 2] 3] 9] 2] 0] O] 9] 2] 6] 3] 2] 2f 2] 2] 2
@ Soll: 4,50 1,666666667 | 4,666666667 | 0,666666667 | 5,666666667 | 2,333333333 2
Faktor (Y) 22,22 22,22 22,22 22,22 22,22 22,22
Pons@x 3 DN S e 7
882 | 690 | 943




Erstellt von Tom 2011 0% - 60%
60% - 80%
80% - 100%

|_ber 100% |
Clemens Michael Marion Georg
Namen: Schober Winkler Winkler Bachler
1) StoR-Geschwindigkeit] 2| 4] 3] 3] 2| 4] 3] 3] 3| 4] 4] 4
@ Soll: 4 3 3 3 4
Faktor (Y) 25 25 25 25
Points (& x Y) 75 75 s I
2) StoR-Geradlinigkeit] 1] 1] 2] o] 2] 2] 1] 1] 1] o] o] o
@ Soll: 1,50 1 1 0,75 0
Faktor (Y) 66,67 66,67 66,67 66,67
Points (J x Y) 67 67 50 0
Summery| 142 142 125 100
3) Nachlauf-Wirkung] 11| 8] 5] of 8] of 8] 7] 9] 10] 6] 7
@ Soll: 10,00 8 8,666666667 8 7,666666667
Faktor (Y) 10 10 10 10
Points (2 x Y) 80 8 80 77
Summery| 222 228 205 177

2) RucklaufF-Wirkung] 12] 8] 9] 10] 10] 12] 3] 8] 8] 11]
@ Soll: 10,00] 9,666666667 | 10,66666667 | 6,333333333

Faktor (Y) 10 10 10
Points (3 x Y) 97
Summery| 318 835 268
5)KI. Pos.-Bereich a] 2| 3] 2] 4] o 2 of 5] 2] 6] 10] 5
bl 2] ] a] af a[ 3] o] 3] 1] 4] 3] 7
3 Soll: 6 1,83 3,33 1,83 5,83
Faktor (Y) 16,67 16,67 16,67 16,67
Points (2 x Y) 31 56 31
Summery| 349 391 299 384
6)Gr.Pos.Bereich a] 7| 7| 2] 3| 10| 10] 2| 2| o] 2] 2| 2
b| 1] 3[ 2| 2] 4 7| 2] 2o 1| 4] 1] s
@ Soll: 5,5] 3,666666667 6 15 2,666666667
Faktor (Y) 18,18 18,18 18,18 18,18
Points (2 x Y) 67 27 48
Summery| 416 326 432
7)PressBande a| 2| 2| 1] 3] 1] 2 || 3 1] 1
bl 2] 2] 1] 1] 3] 4 ] 3] o] 2
@ Soll: 3,33] 1,666666667 | 2,333333333 0 1,666666667
Faktor (Y) 30 30 30 30
Points (@ x Y) 50 70 0 50
Summery| 466 570 326 482
8) Endlos-Ubung] 3| 5] 4] 1] o] 2 | | 2] 51 0
@ Soll: 7 4 1 0 2,333333333
Faktor (Y) 14,29 14,29 14,29 14,29
Points (@ x Y) 57 14 0 33
Summery| 523 584 326 516
9) Standardballe] 2] 3] 2] 3] 3] 1 [ 0] 1] o0
1| 2 1] 1 | 1| 2
@ Soll: 2,00 2 1,8 0 0,8
Faktor (Y) 50 50 50 50
Points (J x Y) 0 40
Summery| 623 674 326 556
10) 9-Ball Situation] 8] 6] 8] 3] 3] 5 1 4] 3] 5
@ Soll: 6] 7,333333333 | 3,666666667 0 4
Faktor (Y) 16,67 16,67 16,67 16,67

Points (2 x Y)_ 61 0 67

[ Summery| 745 | 735 | 326 | 622 |






